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Q:-1. A square pyramid with side 10 cm has a volume of 400
cm?. Find the height of pyramid ?

10 SHT ST AT Teh AR ALTTHE AT A= 400 FH7° B
| e dt S=TS AT Her?
- (a) 15 \]—_ _% oves ocf d%w)«xt\g?]m-
| (b)12
(c)10
(d) 16
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):-2 A sum of money at compound interest amount to thrice
itself in 16 years, so in how many years will it be 27 times
itself?

3aT:- AHh gl AT ﬂﬂﬂﬂﬂ16aﬁﬁ3w€r@?ﬁﬁﬁﬁﬁ
| it 72 27 o A
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(c) 24
(d) 36
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Q:-3. Find the number of zero in 50! x 70! + 20!
@. 20! § 9= T TE&AT T ffSU

(a) +9o =

(b) 12 /57\\74;17«374\4_—_—’— 7\
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(c) 20
(d) 16




Q:-4. Find the value of A |f «/3 3«/3tan"2A 3tan A -
tan3A.

A FT |19 T Eﬁﬁﬂ'{ If< V3 - 3¥3tan?2A = 3tan A -
_3{dem A = Idenpodewh

tanA
(a) 20°

3> 6
b) 40° o (V= e A) = Dyemp-
(b) 3(%3 =

(c) 60° Jon 3 A =
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Q:-5.Ifa+b+c=7anda®+ b®*+c?®-3abc =175, then

what is the value of (ab + bc + ca)?

Ife a + b+ ¢ = 7 T a3+ b3+ ¢ - 3abc = 175, @1 (ab+ bc+ ca)
| FAFFTE? o

@4 Qe
|

(b) 6

() 7 .

(d) =S = Zf(\/w:scqwac«@)

2s |
55 = U= (breckca)

//5/(@\3 toctca) = G (2)
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(J:-6. If the sum of perimeter of two square having sides 9 cm

and 12 cm is equal to the perimeter of the third square. What is
the area of the third square?

| 7f2 9 At st 12 At yorTat arerdY it - F R T AT AL At |
JEX 2 ﬂ@iﬂf\ %m\ﬁ-‘ili% ‘

(b) 529cm?
' (c) 421cm?
(d) 530cm?
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CRULE greaes num
1075 the remainder in each case Is the same, WhICh of the
following is not a factor if x?

HTA AT X Ta9 Tt €47 g St 955, 1027, 1075 =t A«
FLAT &, Wmﬁaﬁﬁwélﬁﬁﬁ%ﬁﬁﬁaﬁ?m

%qﬁx?Hng (lo21-GSS ), (1o15-1027), (127577

E%ﬁ MeE = 39, 12, 1
(c) 16 -
(d) 8
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) a ;“4 B t4n iilw= *me n \/ r“m 1T Lusb @@@ ﬂ@
m nutes respectively. The tank when full can be emptied by
pipe C in x minutes. When all the three pipes are opened

' simultaneously, the tank is full in 10 minutes. The value of x is |
?

 UTET A 3T B TH &F T FHA: 12 A< 3T 15 =< § 9< 94 g

| & ST AT STt § A7 9= C a0 x faee ¥ =@ ST TET g
| T T AT 7 UF T @i 2w At £, P 10
El'l‘cﬁ%’IXEh‘rHWE? & ‘L\’”b‘fc

(a)24 i 6o L
(b)36 TS’ %/3/ Rt
(c)20

(d)28
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G=9. Pradeep is 4 years older than his wife P a |bha and the
present age of their son is 9 years. If the present age of

Pradeep's son is 1/4 times of Pradeep's age and if the

| couple's son was born after 2 years of their marriage, then

find the age of Pradeep's wife at the time of her marriage ?

| AT SO T TTNT 4 79 a2T & 3 S T AT o

Qaﬁélqﬁﬁ?%wﬁqéuwﬂﬁqﬁw 1/4 AT 8
EARIEEUEERCETIS C ST ET R %Zqﬁfqlq‘g\%ﬂ% ar g=Iq
ﬁﬁﬁ?ﬂﬁ%ﬂﬁ@#ﬁw i

(a) 21 /\

(b) 22 5

(c) 23

d)
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Q==10. The ratio of the monthly income of Xand Y is 5:4 and
that of their monthly expenditures is 9: 7. If the income of Y is
equal to the expenditure of X, then what is the ratio of the
savings of X and Y?

X 3T Y T AT 3T T FATATT 5:4 7 ST I ATHH AT FT 9:7
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-11. Two persons are |n|t|aIIy 28 km apart and when they
start traveling towards each other, they meet after 24 minutes.
" When they travel in_the sameﬁdirection, then they will meet after
| 56 minutes, then what will be the distance between them after
1 15 minutes if they travel towards each other?

-?f@ﬁﬁ? H 28 TohHT 3T B Sl ST F Ueh THL &l AT JTAT HLAT LF |

l’mg a“r%rz4fhaz%mfﬁﬂ%r%|aa%@g°rﬁmﬁwm%r%

1 ¥ 56 e ¥ aTwwagms
fhazaw % ﬁﬁ%%&ﬁ?éﬁfﬁ? s
(a) 15 k S — SIS

(b) 10.5 km g _ S 28 e %w
(c)12 km e 3‘%& *Ush,
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J=12. The base of a right pyramid is an equilateral triangle

with side 8 cm, and its height is 30 v/3cm. The volume (in cm?)
IS:

T gTed e &7 e uh a9earg Brae & St e g At ®, |
Sﬁ‘{%ﬂ?ﬁﬁ'l‘% 30v/3 cm g\ Ia (??l'Fﬁe H) 8:

(b)480
(c)360
(d)250

| (2)240
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, (GL/CLE ) = LUZLL-4L3
. An article is marked 25% aove Its cost price. If X%
discount is allowed on the marked price and still there is a profit
of 5.5%, then what is the value of x?

Q?ﬁa'{ﬁq'{wohshq T & 25% e sifsha TohaT 12T €1 A Sffehe |
T 9T X% i Fe &1 ATt & 3T T |1 5.5% FTATH FraAT @, AT X |
| T AT 41 87

' (b) 15.4
(c) 15.2
(d) 15.3

(a) 15.6




Q:-14. The average of twenty-five numbers is 54. The average
of the first 13 numbers and that of the last 13 numbers is 52.8
and 62.2, respectively. If the 13th number is excluded, then
what is the average of the remaining numbers (correct to one

' decimal place)?

| o= SeaTett & Sftaa 54 g1 UgHT 13 AT HT 3 L sitaw 13 |
| HEATT FHT AT FHA: 52.8 AT 62.2 &1 AT 13T FLAT 7 g7 & |
| STTT, AT T TS T AT (UF TAHAT T qF T AT &2 '
(a) 50.2
(b) 52.2
(c) 51.2
(d) 53.2







